HOME EXERCISE 7

Set out carefully all appropriate working.

Do neot use a calculator in questions 1, 2, 3 or 4.
Use a calculator in questions 5 and 6.

1. Evaluate: 12 x < (2)
2. Remove the brackets and simplify: (2x=3)(x+5) (2)
3. If a=3 and b=-6, evaluate: 2a°+ b (2)
4. Solve the equation: 3(x-2)=8-2(x-3) 4)
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5. 40 The graphs show the journeys
of a cyclist and a runner travelling
between two towns.
30 o
7 (a) How long, in minutes, does
the cyclist have to wait for
/ the runner to arrive? (1)
20
(b) Calculate the speed of:
(1) the cyclist (3)
10 / (ii) the runner. (3)
/
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6. C
34 m
16 m
Show that triangle ABC is right-angled. (3)

A 30m B Total 20 marks



